B.Ed 1* Year (2015-2016)

Subject : Mathematics (Set-III) Full Marks : 80
Paper : CEC Time : 03 hours
Driections :-
i. Candidates are requested to give your answer to own words and sentences.
il. All questions contain equal marks. Answer any five out of ten questions.
fader —

i. qenfera & smue fhar Srdr € fb 9 ugHl &1 SR 979 Yal Ud dral H < |
ii. If ggHf B A9 R_ER 2| °F Ul § I fhel 9 g &1 SR < |

[4+4+8]

(a) Define Prime and Rational numbers with suitable examples.
0 (Zero) is not a Ir-rational number. For this write a suitable cause.

JYTSY AT U UREY T B gRYTST ISTeN0l Afed ay |
TR (0) U SURFY AT A1 & | 39 oY IFd BT o |

(b) Express each of the following as a fraction in simplest form.

frr=feRad & [ed B =1 & wu & ford |

i) 0.34 (i) 3.14 (iii) 0.17 (iv) 0.3
(©) If x =3 +8, find the value of (x* + )
X

afE x =3+ V8, T AN (2 + ) BT AT P |
[4+8+4]

(a) If P(x) = 4x? — 3x + 6, Then find the value of
(i) P(0) (ii) P(4) (iii) P(=5)  (iv) P(3)
Ife P(x) =4x2 —3x + 6, 8 oI
(1) P(0) (ii) P(4) (iii) P(=5)  (iv) P(3)
& A AT |

(b) Factorize ([UTEE HIIY) :
(i) 20I°m + 30alm (i) a® +a—3a? -3
(iii) 2a° — 32a (iv) x% —1

(c) Find the remainder when x* + x3 — 2x? + x + 1 is divided by x — 1.

x4+ a3 —2x2 x4+ 1P x— 19 9T T I U IUHS ST HIFU |
[8+8]

(a) Solve for x and y
(x 3R y @ g &1 )
(1) 2x+3y =0
3x+4y =5
(i1) 4x —3y =8

6x—y=?



(b)

(a)

(b)
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(b)

(©)

(@)

(b)

Solve for x and y

(xR y & forg g1 o)

11
3_5_5 (where x # 0,y # 0)

[8+8]

Find the discriminant of the equation
3x% —2x + % = 0 and hence find the nature of its roots. Find them, if they are
real.

FHBT 3x% — 2x +2 =0 BT RARETER o1 AT R AR qell 31 vl
1 oY | 3fe T arafas g @ = F1d BN |

Find two consecutive odd positive integers, sum of whose squares is 290.

&1 U HATTT favq geTcqe urieh 9 ISy fS=7es @i T T 290 & |

[4+4+8]

Prove that (Rig &~ &) -
1+SecA Sin%A
SecA  1—CosA

If Sin 3A = Cos (A — 26°), where 3A is an acute angle,
find the value of A.

A& Sin 3A = Cos (A — 26°) &I, W&, 3A Tdb g7 BT & Al A &1 949 od
PINTY |

The shadow of a tower standing on a level ground is found to be 40m larger
when the Sun’s altitude is 30° then when it is 60°. Find the height of the tower.

U FHA SHIF R el T9R & Brar 99 Refa § 40 #1. a1fde odr &
ST ¥ ofafh i @1 S (altitude) 60° ¥ HEHR 30° B ST § | HHR
D HaTs AT DI |

[6+6+4]

The sides of a triangular plot are in the ratio of 3 : 5: 7 and its perimeter is
300m. Find its area.

e BOTER @ (Plot) @1 Yol &1 31urd 3 : 5 : 7 8, Ud SA®I uR¥™
300 HI. B, A1 SHBT B S BT |

Find the total surface area of a cone, it its slant height is 21m. and diameter of its
base is 24m.

TP T Bl B T &FAhd A dioy, el e Sars 21 AL @ik
MR T AT 24 4. T |



(©)

(a)

(b)

(©)

Find the surface area of a sphere of diameter is 14 cm.

14 HH). ATF d1el el BT I &b dd DIy |
[4+8+4]

A football team won 10 matches out of the total number of matches they played.
If their win percentage was 40, then how many matches did they play in all?

U edlel S el O Ha Wel S § 10 H Sfid BIRTA @ | gfE ST
SId BT UReId 40 o A 99 < o § fdha J9 el ?

Find CI paid when a sum of Rs. 10000 is invested for 1 year and 3 months at
8%% per annum compounded annually.

10000 T B ART R 1 I 3R 3 W B v 80 D = A Forer B
W Fhglg AT S DI, STdfd TSl arfies FAMSTT BIaT 2 |

A Shopkeeper bought two TV sets at Rs. 10,000 each. He sold one at a profit of
10% and the other at a loss of 10%. Find whether he made an overall profit or
loss.

TP GHMSR o &I Tellfdsid dT 10,000 . UfT € &1 &% 4§ @RI | S99 &
DI 10% BN I AR TN B 10% o 9 o9 fear| s sy fé& |
AR IU 39 dla H M g3 JArar B |

[4+4+4+4]

If (3fQ)

(@)

(b)

(©)

(d)

A={1,2,3,4}

B=1{3,4,5,6}

C=1{5,6,7,8}

D=1{7,8,9, 10}

Then find.

(@l ST )

(i) AUB (i) BUD (i) AnC iv)(AnD

(i) Expand from binomial theorem.

(fGue w1 & o aR AR @)
(i) (o +2y)° (i) (2x =
Find the 5™ term from the end in the expansion of
¥ 2Zyo
( 2 xz)
. 3 192 .
ot (5 ——)° P 59 98 T |

Using the binomial theorem, find the value of

(feus w1 &1 vaNT &_d gy frefalRad &1 914 =1 @ 1)
(i) (102)° (i) (99)*




10.

[16]

Calculate the Mean, Median and Mode by assumed mean method.

(foua wred fAfr gRT Ay, Aegd UG 98 SiTd a |)

(@)

(b)

(©)

ClI 10-25 25-40 40-55 55-70 70-85 85-100

f 2 3 7 6 6 6

[4+4+8]

Find the area of a triangle, the coordinates of the mid-points of whose vertices
are (-1, -2), (6, 1) and (3, 5) respectively.

et (-1, -2), (6, 1) Wd (3, 5) drcl BT @1 ol & Areg—fIgail | a7+
qrell ST &1 &hel SiTd BIfoly |

Which term of the A.P. : 3, 15, 27,29 ............... , will be 132 more than its
54™ term?

AP.:3,15,27,29, ..cccooeonn.... , @ -1 IS D 549 U A 132 31fH
BT ?

Two dice, one blue & one grey are thrown at the same time. Write down all the
possible outcomes. What is the probability that the sum of the two numbers
appearing on the top of the dice is

i) 8?7 (1) 13 ? (iii) less than or equal to 12 ?

TP Wil I 3R U Il U Bl U 1 Bbl ol & 99 qwrfad
gfRumdl &1 fIRaw | s9a! a1 wifedr & f& g9l ural & dvemsil &1 anT

(i) 8 & (i) 13 & (iii) 12 ¥ BT IT IFH SRR 8

-- The End --



